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45 R4.2.22 R4.3.1 <10 <10 - EEDVDEIRFAET | =RV TUh
44 R4.2.9 R4.2.16 <10 1.9 12 AEHRERNE | 4/
43 R4.2.6 R4.2.10 <10 <10 - e &R =R Th
42 R4.2.6 R4.2.10 <10 <10 - HRm#EL —IRVTH
41 R4.2.5 R4.2.10 <10 <10 - BRXmES =R Th
40 R4.2.2 R4.2.10 <10 <10 - MRM T 1/
39 R4.2.3 R4.2.9 <10 <10 - AEMRERML | =R Dh
38 R4.2.2 R4.2.7 <10 <10 - wEET BT 0%
37 R4.1.5 R4.1.31 <10 <10 - EEDDEIRFHAR | =R TOh
36 R3.12.21 R3.12.24 <10 <10 - EREEMKFAESE 1/
35 R3.12.11 R3.12.15 <10 <10 - EREETT KRFIRTT =R Th
34 R3.12.3 R3.12.9 <10 <10 - HRm#EL —IRVTH
33 R3.12.3 R3.12.9 <10 <10 - B LEEH =R Th
32 R3.12.2 R3.12.9 <10 1.4 11 MRXTFE 1/
31 R3.12.3 R3.12.8 <10 136 14 AEMRERTROL 1/
30 R3.12.2 R3.12.8 <10 <10 - AKETRENTR | =hkoTh
29 R3.10.16 R3.10.21 <10 <10 - BREL =R Th
28 R3.10.14 R3.10.21 <10 <10 - HREEHE —IRVTH
27 R3.10.12 R3.10.18 <10 <10 - AEMRENTER | =Ko on
26 R3.10.12 R3.10.18 <10 <10 - AKEMRERTH 1/
25 R3.10.10 R3.10.15 <10 <10 - TR = =R Th
24 R3.10.10 R3.10.15 <10 134 13 ReET AR 1/
23 R3.10.3 R3.10.7 <10 <10 - BRMLE 1/
22 R3.9.5 R3.9.9 <10 <10 - fREET/NEH =R Th
21 R3.9.2 R3.9.9 <10 <10 - EREETTFRIR %%
20 R3.8.13 R3.8.18 <10 <10 - AKETRERML | =/KRoDH




19 R3.8.1 R3.8.5 <10 <10 - HREEHE I
18 R3.8.1 R3.8.5 <10 <10 - BRmEM =R Th
17 R3.8.1 R3.8.5 <10 <10 - HRm#EL —RVTH
16 R3.8.1 R3.8.4 <10 <10 - AETRERT/NE 1/
15 R3.7.23 R3.8.2 <10 <10 - BREET =R 1/
14 R3.7.21 R3.8.2 <10 <10 - gReETAL ) =R Th
13 R3.7.10 R3.7.15 <10 <10 - BMRm#EL —RVTH
12 R3.7.10 R3.7.15 <10 <10 - BRXM T =R Th
11 R3.7.3 R3.7.8 <10 <10 - MRMLE 1/
10 R3.7.3 R3.7.8 <10 <10 - A E T RETFRR L 1/
9 R3.7.3 R3.7.8 <10 <10 - AETREMTR | =RoOh
8 R3.6.26 R3.7.1 <10 <10 - BRXMEHAR | ZRUUA
7 R3.6.17 R3.6.24 <10 135 14 BREET R E 1/
6 R3.6.11 R3.6.18 <10 <10 - gReET At =R Th
5 R3.6.13 R3.6.17 <10 <10 - BRXMKE =R Th
4 R3.6.12 R3.6.17 <10 <10 - BREL =R Th
3 R3.6.13 R3.6.17 <10 <10 - B WA =R Th
2 R3.6.10 R3.6.17 <10 <10 - BRMEH 1/
1 R3.6.11 R3.6.17 <10 <10 - AEMREMTR | =RoOh




